omplete the following reactions:
H+Cl, —=

C

1

2. NaCl+HSO, ——=

3. NaCl+ NaHSQ——==

4. CuO +HC——=

5. FeC}+ NHOH ——=

6. NaSO; + HCl ——=

7. AgNO; + HCl ——=

8. AgNG;(strongly heated,——=
9. Cu(NQ); + HCl| ——=

10. Pb(NQ), + HCl ——=

11. PRO; + HCl ——=

12. HNG; + 3HCI + Au——==
13. NH; + HCl ——=

14. P+ HNQ —=

15. AgCl + NHOH ——==

16. MnG+ HCl ——==

17. NHCI + Ca(OH) —==
18. NH,Cl + NaOH ——==

19. (NH,)),SO, + Ca(OH) —==
20. NH,NO, (strongly heate.s——=
21. NH + H,SO; —=

22. NH; + CaCp ——=

23. MgN; + H,O ——=

24. AIN + HO —=

25. NHp+ O, —=

26. NH; + HNO; ——=

27. NH + H,SO, —=

28. Ca(NQ), (strongly heated;—=~
29. S+ HNQ —=

30. NH; + H,O —==

31. Cu+ HNQ ——==

32. Fe(OH) + HNO; —=

33. NHlOH + HC| ——=

34. NH,OH + HNQ; —==

35. KMnQy + HC| ——=

36. NHlOH + H,SO, ———===

37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.

Al + HC| —=

FeSQ+ NH,OH ——=~

Ko:Cr,0; + HCl ——=

Pb(NQ), + NH,OH ——==

ZnSQ + NH,OH ——=

Zn(OH} + (NH,),SO, + NH,OH —==
CuSQ+ NH,OH —=

Cu(OH) + (NH,),SO, +NH,OH ——=
CuO + NH —=

PbQ + HCl| ——=

PbO + N —==

8NH; + 3CL —=

NH; + 3ChL, —==

NaCO; + HCl —=

kno3 + HSOQ, —===

FeS + HC———=

NaNQ + H,SO, —=

NaNQ + NaHSQ —==
Pb(NQ), (strongly heated,——=
NH; + O, + Pt (catalyst, ——=
NO+Q —=

NG + O, + HO —=

NaHCQ + HC| ——==

PbO + HNQ ——=

NH; + POy + H,O —=
AgNQ; + HCl ——=

NaOH + HNQ —==

NH,OH + HC|——=

PbCQ+ HNO; —=

Ca(HCQ), + HNO; —=
C+HNQ ——=

NH,NO; (strongly heatec,——=
CaN, + HO ——==

Cu+ HNQ gy —=

Zn + HNQ —=

Hg(NQ), (strongly heated;—==
Pb + HNQ ——=
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74.
75.
76.
7.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.

100.
101.
102.
103.
104.
105.
106.
107.
108.
109.
110.

SQ + H,O + HNG; ——=
HS + HNG ——=
FeSQ+ NO ——=
SQ+0, —=
K:SG; + H,SOyagy —=
KHSQ + HCl (o) — ==
Cu + HSO, —=
nsS+Q —==
FeS+Q@——=
CuFeg+ O, —=
Mg +SQ —=
HO +SQ —=
NaOH + SQ —==
NaSG; + SQ + H,O —==
Ca(OH)+sQ ——=
NaO + SQ —==
SQ+Ch —=
S+ HSO, —=
PbQ+ SQ ——=
Ch+HO+SQ —=
FeCi+SQ + H,O —=
KMnQ, + H,O + SQ —=
HNG + SQ ——=
NaCl + HSO, —=
Cu(NQ), (strongly heated,——==
R + H,SO, —=
HS +SQ ——=
Zn + HSO, —=
NaSQ; + HCl (o) — ==
HI + HSO, —=

NaNQ(strongly heated,——=

CaS@+ H,O + SQ —==
GH106 + H,SO, —==
HCOOH + HSQ, —==

HOOC-COOH + b0, —=

KNG; (strongly heated;—=
QH204 + HzSO4 —_—

111.
112.
113.
114.
115.
116.
117.
118.
1109.
120.
121.
122.
123.
124,
125.
126.
127.
128.
129.
130.
131.
132.

CuSQ5H,0 + H,SO, —=
FeS + BBO, ——=

FeS@+ H,SO, + HNO; ——=
HS+Q ——=

HS + Cb —=

CaS@+ HClpqy ——==

HS + HNG ——=

Zn(NQ), (strongly heated;——==
HS + FeC} —=

HS + HSO, ——=
C+HSO —=

NaHSQ@+ H,SOyaq) — =
Pb(CHCOO), + H,S —=
CuSQ+ H,S —=

Fe(SQy); +SG + HO —=
NaNQ + H,SO, —=
NaCGO; + H,O + SQ —=
Cu+ HSQ, —=

AgNQ + H,S ——=

Mg + SQ —=

KCr,0; + H,SO, + S —=
Zn(NQ),+ H,S ——=

** Here consider HN@,q means cold, very
dilute 1% nitric acid, otherwise consider it as
concentrated
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